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1 ��-�/ %�$��&�$�%&���  $���'�� �$��$���/ 
�$�$�%%�����,���� ���'�/ 

��.02 ������� &�%������'�%��% �$�&�%%�� ������$��-
�������'�%��% �%%��������� 

 
1.1  &5?L < ??4=<DG5<O5 D57G?LF4FO >E6>5=<O ?D>D5EE<>=4?L=>7> <>4G?O  
� D57G?LF4F5 <7GG5=<O ?D>D5EE<>=4?L=>7> <>4G?O >5GG4NM<=EO 4>?65= >E6><FL 

>E=>6=>= 6<4 45OF5?L=>EF< «�545=<5 F5E=>?>7<G5E><E ?D>F5EE>6 <=65=5D=>-75>?>7<G5E><E 
<EE?54>64=<=» < E>>F65FEF6GNM<5 5<G >5M<5 >><?5F5=F<< < ?D>D5EE<>=4?L=O5 
>><?5F5=F<<: 

1.1.1  �5D5G5=L >5M<E >><?5F5=F<= 

�>4 �4<<5=>64=<5 >5M<E >><?5F5=F<= 

�� 01 �O5<D4FL E?>E>5O D5L5=<O 7444G ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 
?D<<5=<F5?L=> > D47?<G=O< >>=F5>EF4< 

�� 02 �E?>?L7>64FL E>6D5<5==O5 ED54EF64 ?><E>4, 4=4?<74 < <=F5D?D5F4F<< 
<=D>D<4F<<, < <=D>D<4F<>==O5 F5E=>?>7<< 4?O 6O?>?=5=<O 7444G 
?D>D5EE<>=4?L=>= 45OF5?L=>EF< 

�� 03 �?4=<D>64FL < D54?<7>6O64FL E>5EF65==>5 ?D>D5EE<>=4?L=>5 < ?<G=>EF=>5 
D476<F<5, ?D54?D<=<<4F5?LE>GN 45OF5?L=>EFL 6 ?D>D5EE<>=4?L=>= ED5D5, 
<E?>?L7>64FL 7=4=<O ?> D<=4=E>6>= 7D4<>F=>EF< 6 D47?<G=OE 6<7=5==OE 
E<FG4F<OE 

�� 04 -DD5>F<6=> 674<<>45=EF6>64FL < D45>F4FL 6 >>??5>F<65 < >><4=45 

�� 05 �EGM5EF6?OFL GEF=GN < ?<EL<5==GN >><<G=<>4F<N =4 7>EG44DEF65==>< 
O7O>5 $>EE<=E>>= $545D4F<< E GG5F>< >E>55==>EF5= E>F<4?L=>7> < 
>G?LFGD=>7> >>=F5>EF4 

�� 06 �D>O6?OFL 7D4644=E>>-?4FD<>F<G5E>GN ?>7<F<N, 45<>=EFD<D>64FL 
>E>7=4==>5 ?>6545=<5 =4 >E=>65 FD44<F<>==OE >5M5G5?>65G5E><E F5==>EF5=, 
6 F>< G<E?5 E GG5F>< 74D<>=<74F<< <56=4F<>=4?L=OE < <56D5?<7<>7=OE 
>F=>L5=<=, ?D<<5=OFL EF4=44DFO 4=F<>>DDG?F<>==>7> ?>6545=<O 

�� 07 %>45=EF6>64FL E>ED4=5=<N >>DG64NM5= ED54O, D5EGDE>E55D565=<N, 
?D<<5=OFL 7=4=<O >5 <7<5=5=<< >?<<4F4, ?D<=F<?O 55D56?<6>7> 
?D><76>4EF64, MDD5>F<6=> 45=EF6>64FL 6 GD576OG4==OE E<FG4F<OE 

�� 08 �E?>?L7>64FL ED54EF64 D<7<G5E>>= >G?LFGDO 4?O E>ED4=5=<O < G>D5??5=<O 
74>D>6LO 6 ?D>F5EE5 ?D>D5EE<>=4?L=>= 45OF5?L=>EF< < ?>445D64=<O 
=5>5E>4<<>7> GD>6=O D<7<G5E>>= ?>47>F>6?5==>EF< 

�� 09 �>?L7>64FLEO ?D>D5EE<>=4?L=>= 4>>G<5=F4F<5= =4 7>EG44DEF65==>< < 
<=>EFD4==>< O7O>4E 
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1.1.2  �5D5G5=L ?D>D5EE<>=4?L=OE >><?5F5=F<=  

�>4 �4<<5=>64=<5 6<4>6 45OF5?L=>EF< < ?D>D5EE<>=4?L=OE >><?5F5=F<= 

�� 2 �545=<5 F5E=>?>7<G5E><E ?D>F5EE>6 <=65=5D=>-75>?>7<G5E><E <EE?54>64=<= 

�� 2.1 %>5<D4FL < >5D454FO64FL <4F5D<4?O <7OE>4=<= < <EE?54>64=<= ?D>L?OE ?5F. 

�� 2.2 $47D454FO64FL ?D>7D4<<G <=65=5D=>-75>?>7<G5E><E <7OE>4=<=. 

�� 2.3 �D>6>4<FL D5>>7=>EF<D>6>G=>5 >5E?54>64=<5 F5DD<F>D<<. 

�� 2.4 �5EF< ?5D6<G=GN 4>>G<5=F4F<N < >?D>5>64=<5 <=65=5D=>-75>?>7<G5E><E 
6OD45>F>>. 

�� 2.5 �O?>?=OFL <=65=5D=>-75>?>7<G5E><5 <EE?54>64=<O. 

�� 2.6 �D><76>4<FL >4<5D4?L=GN >5D45>F>G <4F5D<4?>6 <=65=5D=>-75>?>7<G5E><E 
<7OE>4=<= < E>EF46?OFL F5E=<G5E><= >FG5F. 

 
 

1.1.3  � D57G?LF4F5 >E6>5=<O ?D>D5EE<>=4?L=>7> <>4G?O >5GG4NM<=EO 4>?65=1: 
 
6?445FL 
=46O>4<< 

- >5D45>F>< < E<EF5<4F<74F<< <4F5D<4?>6 <EE?54>64=<= ?D>L?OE ?5F,  
- ?>47>F>6>< D45>G5= 7<?>F57O >5 <=65=5D=>-75>?>7<G5E><E GE?>6<OE 
<EE?54G5<>= F5DD<F>D<<; 
- D>D<<D>64=<O ?5D5G=O >E=>6=OE 7444G <=65=5D=>-75>?>7<G5E><E 
<7OE>4=<=; 
- >?D545?5=<O E>EF464, >5N5<4, F5E=>?>7<< 6O?>?=5=<O <=65=5D=OE 
<7OE>4=<=; 
- >?<E4=<O < D>F>D<>E4F<< D57G?LF4F>6 <4DLDGF=OE =45?N45=<=; 
- >D74=<74F<< < >>=FD>?O ?D>6545=<O ?D>E>4>< <=65=5D=>-75>?>7<G5E><E 
6OD45>F>> < 5GD5=<O <=65=5D=>-75>?>7<G5E><E E>646<=; 
- >?<E4=<O <=65=5D=>-75>?>7<G5E>>7> D47D574, GE?>6<= 74?574=<O 7DG=F>6; 
- >F5>D4, D57<EFD4F<<, GG5F4 < =4?D46?5=<O =4 ?45>D4F>D=O5 <EE?54>64=<O 
75>?>7<G5E><E ?D>5 (>5D47F>6) 7DG=F>6 =4DGL5==>= < =5=4DGL5==>= 
EFDG>FGDO < ?D>5 ?>475<=OE 6>4 4?O ?45>D4F>D=>7> 4=4?<74; 
- ?D>6545=<O ?>?56OE <EE?54>64=<= 7DG=F>6 6 5EF5EF65==>< 74?574=<<; 
- >D74=<74F<< < >>=FD>?O ?<>6<44F<< <=65=5D=>-75>?>7<G5E><E 6OD45>F>> 
?>E?5 >>>=G4=<O D45>F; 
- 6O?>?=5=<O EF4F<>=4D=OE =45?N45=<= (?>>4?L=>7> <>=<F>D<=74 
>><?>=5=F>6 75>?>7<G5E>>= ED54O); 
- 6545=<O ?>?56>= 4>>G<5=F4F<<; 
- ?D>6545=<O <=65=5D=>-75>>D<>?>7<G5E><E <EE?54>64=<=; 
<EE?54>64=<O E?5F<D<G5E><E 7DG=F>6 < >?4E=OE 75>?>7<G5E><E < <=65=5D=>-
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75>?>7<G5E><E ?D>F5EE>6; 
- >5E?54>64=<O 7DG=F>6 >E=>64=<= DG=44<5=F>6 EGM5EF6GNM<E 744=<= < 
E>>DG65=<=; 
- >5D45>F>< 44==OE ?45>D4F>D=OE <E?OF4=<=, 75>?>7<G5E><E =45?N45=<=; 
- ?>47>F>6>< >>?<G5EF65==>7> ?D>7=>74 <7<5=5=<= <=65=5D=>-75>?>7<G5E><E 
GE?>6<= < D5>><5=44F<= 4?O ?D<=OF<O D5L5=<= ?> <=65=5D=>= 74M<F5 
F5DD<F>D<< >F >?4E=OE ?D>F5EE>6; 
- >D>D<?5=<O F5>EF>6OE < 7D4D<G5E><E ?D<?>65=<= F5E=<G5E>>7> >FG5F4; 
- E>EF46?5=<O F5>EF4 F5E=<G5E>>7> >FG5F4 ?> D57G?LF4F4< <=65=5D=>-
75>?>7<G5E><E <7OE>4=<= 

G<5FL - >?D545?OFL GEF>=G<6>EFL E>?>=>6; 
- >?D545?OFL <>M=>EFL 4>F<6=>= 7>=O < >E44>G >E=>64=<O; 
- >?D545?OFL =5EGMGN E?>E>5=>EFL E64=; 
- 6<7G4?L=> >F5=<64FL 45D>D<4F<N 744=<= < E>>DG65=<= =4 <EE?54G5<>= 
F5DD<F>D<<; 
- 6O5D4FL 6<4 < E>EF46 ?45>D4F>D=OE >?D545?5=<= E4D4>F5D<EF<> 7DG=F>6; 
- 6O5D4FL 6<4 < E>EF46 ?45>D4F>D=OE <EE?54>64=<= E<<<G5E>>7> E>EF464 
?>475<=OE < ?>65DE=>EF=OE 6>4; 
- 6O?>?=OFL ?45>D4F>D=O5 D45>FO ?> >?D545?5=<N D<7<G5E><E, 6>4=OE < 
<5E4=<G5E><E E6>=EF6 7DG=F>6; 
- 6O?>?=OFL EF4F<EF<G5E>GN >5D45>F>G D57G?LF4F>6 ?45>D4F>D=OE <E?OF4=<=; 
- >EGM5EF6?OFL >><??5>E 75>457<G5E><E D45>F ?D< D5L5=<< <=65=5D=>-
75>?>7<G5E><E 7444G, 6 F.G. ??4=>6>-6OE>F=GN D475<6>G < ?D<6O7>G F>G5>; 
- >5D454FO64FL D57G?LF4FO ?>?56OE 75>457<G5E><E D45>F; 
- EFD><FL < 4=4?<7<D>64FL <=65=5D=>-75>?>7<G5E><= D47D57; 
- >5D454FO64FL D57G?LF4FO ?>?56OE >?OF=OE D45>F; 
- 4=4?<7<D>64FL <4F5D<4?O <7OE>4=<= < <EE?54>64=<= ?D>L?OE ?5F 6 
E>>F65FEF6<< E 7444G4<< <=65=5D=>-75>?>7<G5E><E <7OE>4=<OE 4?O >464>7> 
MF4?4 (EF44<<) D47D45>F>< ?D>5>F=>= 4>>G<5=F4F<<; 
- >?D545?OFL >4F57>D<N E?>6=>EF< <=65=5D=>-75>?>7<G5E><E GE?>6<= < 
>F5=<64FL EF5?5=L <7GG5==>EF< ?D<D>4=OE GE?>6<=; 
- >?D545?OFL GG4EF>< D4E?D>EFD4=5=<O E?5F<D<G5E><E 7DG=F>6, >F5=<64FL 
EF5?5=L D<E>4 <E D476<F<O; 
- >?D545?OFL E>EF46, >5N5<O, <5F>4<>< < F5E=>?>7<< <=65=5D=>-
75>?>7<G5E><E <7OE>4F5?LE><E D45>F; 
- ?D<<5=OFL FD55>64=<O =>D<4F<6=>-F5E=<G5E>>= 4>>G<5=F4F<< > 
>D>D<?5=<N ?D>7D4<<O <=65=5D=>-75>?>7<G5E><E <7OE>4=<=; 
- >?D545?OFL >>?<G5EF6> <4DLDGF>6, E>EF46 < >5N5< E>?GFEF6GNM<E D45>F 6 
746<E<<>EF< >F E?>6=>EF< <=65=5D=>-75>?>7<G5E><E GE?>6<=, =47=4G5=<O < 
45F4?L=>EF< <7OE>4=<=; 
- ?D<<5=OFL FD55>64=<O =>D<4F<6=>-F5E=<G5E>>= 4>>G<5=F4F<< > ?>DO4>G < 
E?>E>54< >F5>D4 >5D47F>6 7DG=F>6 < ?D>5 6>4O 4?O ?45>D4F>D=OE 
<EE?54>64=<=; 
- 6O5<D4FL 6<4O 7>D=OE 6OD45>F>>, E?>E>5O < D47=>6<4=>EF< 5GD5=<O 
E>646<= 6 746<E<<>EF< >F GE?>6<= ?D><76>4EF64 D45>F (F5?5= < =47=4G5=<O 
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?D>E>4><, GE?>6<= 74?574=<O, 6<44, E>EF464, E>EF>O=<O 7DG=F>6 < <E 
?D>G=>EF=OE E4D4>F5D<EF<>, =4?<G<O ?>475<=OE 6>4 < =4<5G45<>= 7?G5<=O 
<7GG5=<O 75>?>7<G5E>>= ED54O); 
- 6O5<D4FL <5F>4<>< ?D>6545=<O ?5D6<G=>= >4<5D4?L=>= >5D45>F>< ?>?56OE 
<4F5D<4?>6 <=65=5D=>-75>?>7<G5E><E <7OE>4=<=; 
- >?D545?OFL EE5<G >?D>5>64=<O 7DG=F>6, >55E?5G<64NMGN <7GG5=<5 
<=65=5D=>-75>?>7<G5E>>7> D47D574 E =5>5E>4<<>= 45F4?L=>EFLN; 
- >?D545?OFL <5F>4 ?>?56OE <E?OF4=<= 7DG=F>6 6 746<E<<>EF< >F D5L45<OE 
7444G, E>EF464, EFD>5=<O < E>EF>O=<O <7GG45<OE 7DG=F>6, >4F57>D<< E?>6=>EF< 
< EF5?5=< <7GG5==>EF< <=65=5D=>-75>?>7<G5E><E GE?>6<=, 7?G5<=O 
74?>65=<O < F<?>6 ?D>5>F<DG5<OE DG=44<5=F>6, GD>6=O >F65FEF65==>EF< 
744=<= < E>>DG65=<=; 
- >F5=<64FL E>EF46, E>EF>O=<5 < E6>=EF64 7DG=F>6 6 <4EE<65 < <E <7<5=5=<O; 
- 6OO6?OFL < >>>=FGD<FL 7>=O ?D>O6?5=<O 75>?>7<G5E><E < <=65=5D=>-
75>?>7<G5E><E ?D>F5EE>6; 
- 6O5<D4FL =5>5E>4<<>5 E>G5F4=<5 D47?<G=OE <5F>4>6 <EE?54>64=<O 4?O 
F>G=>EF< < 4>EF>65D=>EF< <=F5D?D5F4F<< D57G?LF4F>6 <7OE>4F5?LE><E D45>F; 
>?D545?OFL E>EF46 =45?N45=<=, >5N5<O, <5F>4O ?D>6545=<O EF4F<>=4D=OE 
=45?N45=<=;  
- >F5=<64FL D<7<>>-<5E4=<G5E><5 E6>=EF64 7DG=F>6; 
- 4=4?<7<D>64FL 44==O5 ?45>D4F>D=OE <E?OF4=<=, 75>?>7<G5E><E =45?N45=<=; 
- 6OO6?OFL D4>F>DO F5E=>75==>7> 6>745=EF6<O, 6?<ONM<5 =4 <7<5=5=<5 
E>EF>O=<O 75>?>7<G5E>>= ED54O; 
- ?D>7=>7<D>64FL <7<5=5=<O <=65=5D=>-75>?>7<G5E><E GE?>6<= < >?D545?OFL 
?5D5G5=L D5>><5=44F<= 4?O ?D<=OF<O D5L5=<= ?> <=65=5D=>= 74M<F5 
F5DD<F>D<< >F >?4E=OE ?D>F5EE>6; 
- >F5=<64FL 4>EF4F>G=>EFL E>45D64M<EEO 6 F5E=<G5E>>< >FG5F5 E6545=<= < 
44==OE >5 <=65=5D=>-75>?>7<G5E><E GE?>6<OE F5DD<F>D<<, ?D>7=>75 <E 
6>7<>6=OE <7<5=5=<= 6 ?5D<>4 EFD><F5?LEF64 < M>E??G4F4F<< 744=<= < 
E>>DG65=<=; 
- 4=4?<7<D>64FL 7444GG <?< ?D>5?5<G, E6O74==GN E M>E??G4F4F<5=, F5E=<G5E><< 
>5E?G6<64=<5< < D5<>=F>< <=65=5D=>-75>?>7<G5E>>7> < 7<4D>75>?>7<G5E>>7>  
>5>DG4>64=<O; 

- G<F4FL G5DF56< < EE5<O >E=>6=>7> < 6E?><>74F5?L=>7> F5E=>?>7<G5E>>7> 
>5>DG4>64=<O; 
- 6O?>?=OFL ?D>D<?4>F<G5E><5 D45>FO ?> >5E?G6<64=<N F5E=>?>7<G5E>>7> 
>5>DG4>64=<O; 
- >?D545?OFL < GEFD4=OFL ?D<G<=O >F>474 >5>DG4>64=<O; 
- ?>45<D4FL ED54EF64 <7<5D5=<= < ?D><76>4<FL >>=FD>?L D47?<G=OE 
?4D4<5FD>6 M>E??G4F4F<< >5>DG4>64=<O; 
?D<<5=OFL ?D>7D4<<=>5 >55E?5G5=<5 4?O E<EF5<4F<74F<< < ?>47>F>6>< 
F5E=<G5E>>7> >FG5F4 ?> D57G?LF4F4< ?D>6545=<O <=65=5D=>-75>?>7<G5E><E 
<7OE>4=<= 

7=4FL - <5E4=<G5E><5 E6>=EF64 7DG=F>6 < 6<4O =4?DO65=<= 6 7DG=F>6>= F>?M5; 
<5F>4O <>45?<D>64=<O 674<<>45=EF6<O 744=<= < E>>DG65=<= E 75>?>7<G5E>>= 



8 

 

ED54>=; 
- F<?O < >>=EFDG>F<< DG=44<5=F>6; 
- <E>GEEF65==O5 >E=>64=<O, E?>E>5O G>D5??5=<O 7DG=F>6; 
- <5F>4<>G 6<7G4?L=>= >F5=>< 45D>D<4F<< 744=<= < E>>DG65=<= =4 
<EE?54G5<>= F5DD<F>D<<; 
- >?4EE<D<>4F<< 7DG=F>6 < 6>4; 
- >E>55==>EF< D4E?D>EFD4=5=<O E?5F<D<G5E><E 7DG=F>6; 
- 6<4O < E>EF46 ?45>D4F>D=OE >?D545?5=<= E4D4>F5D<EF<> 7DG=F>6; 
- 6<4O ?45>D4F>D=OE >?D545?5=<= E>EF464, E4D4>F5D<EF<> D<7<G5E><E < 
<5E4=<G5E><E E6>=EF6 7DG=F>6 ?D< <=65=5D=>-75>?>7<G5E><E <7OE>4=<OE;  
- E>EF46 ?>>474F5?5= ?D< EF4=44DF=>< <?< ?>?=>< E<<<G5E>>< 4=4?<75 6>4O, 4 
F4>65 4?O >F5=>< >>DD>7<>==>= 4>F<6=>EF< > <5F4??4<; 
- <5F>4O < <5F>4<>< ?D>6545=<O ?>?56OE <E?OF4=<= 7DG=F>6, ?45>D4F>D=OE 
<EE?54>64=<= E6>=EF6 7DG=F>6, >?D545?5=<O D<7<G5E><E E6>=EF6 < 
E<<<G5E>>7> E>EF464 ?>475<=OE < ?>65DE=>EF=OE 6>4 < (<?<) 6>4=OE 6OFO65> 
<7 7DG=F>6; 
- >?4EE<D<>4F<N < E4D4>F5D<EF<>< >?4E=OE M>7>75==OE < M=4>75==OE 
75>?>7<G5E><E < <=65=5D=>-75>?>7<G5E><E ?D>F5EE>6; 
- <5F>4<>4 6OO6?5=<O < >>>=FGD<64=<O 7>= ?D>O6?5=<O 75>?>7<G5E><E < 
<=65=5D=>-75>?>7<G5E><E ?D>F5EE>6; 
- E>EF46 < E6>=EF64 7DG=F>6; 
- <5F>4O >F5>D4 < G?4>>6>< >5D47F>6 7DG=F4 < ?D>5 6>4O <7 <=65=5D=>-
75>?>7<G5E><E 6OD45>F>>; 
- <5F>4O EF4F<EF<G5E>>= >5D45>F>< D57G?LF4F>6 >?D545?5=<O ?>>474F5?5= 
E6>=EF6 7DG=F>6; 
- ?>=OF<5 ��- (<=65=5D=>-75>?>7<G5E><= M?5<5=F); 
- <=65=5D=>-75>?>7<G5E>GN E4D4>F5D<EF<>G ??4FD>D<, ??<F < E>?44G4FOE 
>5?4EF5=; 
- E>EF46 < F5E=>?>7<N 75>457<G5E><E D45>F; 
- E?>E>5O < D47=>6<4=>EF< 5GD5=<O <=65=5D=>-75>?>7<G5E><E E>646<=, 
- GE?>6<O <E ?D<<5=5=<O 6 746<E<<>EF< >F D47=>6<4=>EF< 7DG=F>6; 
- F5E=>?>7<< ?D>E>4>< <=65=5D=>-75>?>7<G5E><E 6OD45>F>> < <E 
>?D>5>64=<O, GE?>6<O <E ?D<<5=5=<O 6 746<E<<>EF< >F D47=>6<4=>EF< 7DG=F>6 
< GE?>6<= ?D><76>4EF64 D45>F (74EFD>=>4, FDG4=>4>EFG?=O5 <5EF4 < F.?.); 
- 6<4O <=65=5D=>-75>?>7<G5E><E 6OD45>F>> < GE?>6<O <E ?D<<5=5=<O ?D< 
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- ?>DO4>> < <5F>4<>G ?D>6545=<O 4=4?<74 ?D>O6?5=<= >?4E=OE 75>?>7<G5E><E 
< <=65=5D=>-75>?>7<G5E><E ?D>F5EE>6 < >F5=>< D<E>>6 <E D476<F<O; 
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- ?D46<?4 M>E??G4F4F<< < >5E?G6<64=<O F5E=>?>7<G5E>>7> >5>DG4>64=<O; 
?D46<?4 < E?>E>5O ?D>D<?4>F<G5E>>7> >5E?G6<64=<O D47?<G=>7> 
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6 F>< G<E?5 E4<>EF>OF5?L=4O D45>F4 3 21 G4E 
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�D><76>4EF65==4O ?D4>F<>4 3 90 G4E>6 
�D><56GF>G=4O 4FF5EF4F<O 3 12 G4E>6
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3  '%����/ $������&�� �$�$�%%�����,���� ���'�/ 
 
3.1  �?O D54?<74F<< ?D>7D4<<O ?D>D5EE<>=4?L=>7> <>4G?O 4>?6=O 5OFL 

?D54GE<>FD5=O E?54GNM<5 E?5F<4?L=O5 ?><5M5=<O: 
�45<=5F «�=65=5D=>-75>?>7<G5E><E <7OE>4=<=», >E=4M5==O=: 

- ?>E44>G=O<< <5EF4<< ?> >>?<G5EF6G >5GG4NM<EEO < D45>G<< <5EF>< ?D5?>4464F5?O; 
- GG55=O<< EF5=44<<; >><??5>F>< >4DF>7D4D<G5E>>7> <4F5D<4?4; >><??5>F>< 
=>D<4F<6=>-F5E=<G5E>>= 4>>G<5=F4F<<; E5>D=<>>< 6<45>D<?L<>6, 6<45>D>?<>>6  
< >><?LNF5D=OE ?D575=F4F<= ?> F5<4< ���; D4744F>G=O<< >>??5>F<O<< >5D47F>6 
7DG=F>6; M>E?>7<F<O<< >4<5==>7> < 7DG=F>6>7> <4F5D<4?4: «�=65=5D=>-75>?>7<G5E>4O 
>?4EE<D<>4F<O 7>D=OE ?>D>4», «�=65=5D=4O 75>4<=4<<>4», «$57<>=4?L=4O 75>?>7<O»; 
- F5E=<G5E><<< ED54EF64<<: ?D575=F4F<>==>5 >5>DG4>64=<5; >><?LNF5D E 4>EFG?>< 6 
<=D>D<4F<>==>-F5?5>><<G=<>4F<>==GN E5FL �=F5D=5F. 

   �45>D4F>D<O «�5>457<< < >4DF>7D4D<<», >E=4M5==4O:  
- ?>E44>G=O<< <5EF4<< ?> >>?<G5EF6G >5GG4NM<EEO < D45>G<< <5EF>< ?D5?>4464F5?O; 
 - >><??5>F>< >4DF>7D4D<G5E>>7> <4F5D<4?4;  
- >><??5>F4<< F5>4>?<F>6, M?5>FD>==OE F4E5><5FD>6, >FD464F5?5=, >><??5>F>< 
=<65?<D>6, =<65?<D=O<< D5=>4<<, <5D=O<< >><??5>F4<<, >4?L>G?OF>D4<< 4?O D5L5=<O 
<=65=5D=OE 7444G, 75>457<G5E><<< FD4=E?>DF<D4<<, <7<5D<F5?O<<;  
- >><?LNF5D4<< (=>GF5G>) E ?<F5=7<>==O< ?D>7D4<<=O< >55E?5G5=<5<; 
?D575=F4F<>==O< >5>DG4>64=<5<. 

 �45>D4F>D<O «�DG=F>6545=<O», >E=4M5==4O  ?45>D4F>D=O< >5>DG4>64=<5< 4?O 
>?D545?5=<O E>EF464, D<7<G5E><E, 6>4=OE < <5E4=<G5E><E E6>=EF6 7DG=F>6. 

�45>D4F>D<O �<4D>75>?>7<<, >E=4M5==4O ?45>D4F>D=O< >5>DG4>64=<5< 4?O 
>?D545?5=<O E<<<G5E>>7> E>EF464 6>4O; ?45>D4F>D=>5 >5>DG4>64=<5 4?O >?D545?5=<O 
6>4=OE E6>=EF6 7DG=F>6. 

$54?<74F<O >5D47>64F5?L=>= ?D>7D4<<O ?D54?>?4745F >5O74F5?L=GN GG55=GN  
< ?D><76>4EF65==GN ?D4>F<>G. 

'G55=4O ?D4>F<>4 D54?<7G5FEO 6 <4EF5DE><E ?D>D5EE<>=4?L=>= >5D47>64F5?L=>= 
>D74=<74F<< < FD55G5F =4?<G<O >5>DG4>64=<O, <=EFDG<5=F>6, D4EE>4=OE <4F5D<4?>6, 
>55E?5G<64NM<E 6O?>?=5=<5 6E5E 6<4>6 D45>F, >?D545?5==OE E>45D64=<5< ?D>7D4<< 
?D>D5EE<>=4?L=OE <>4G?5=, 6 F>< G<E?5 >5>DG4>64=<O < <=EFDG<5=F>6, <E?>?L7G5<OE 
?D< ?D>6545=<< G5<?<>=4F>6 WorldSkills < G>474==OE 6 <=DD4EFDG>FGD=OE ?<EF4E 
>>=>GDE=>= 4>>G<5=F4F<< WorldSkills. 

�D><76>4EF65==4O ?D4>F<>4 D54?<7G5FEO 6 >D74=<74F<OE: 

2 7<4D>75>?>7<G5E>>7> ?D>D<?O; 

2 <7OE>4F5?LE>>7> ?D>D<?O.  
�5>DG4>64=<5 ?D54?D<OF<= < F5E=>?>7<G5E>>5 >E=4M5=<5 D45>G<E <5EF 

?D><76>4EF65==>= ?D4>F<>< 4>?6=> E>>F65FEF6>64FL E>45D64=<N ?D>D5EE<>=4?L=>= 
45OF5?L=>EF< < 44FL 6>7<>6=>EFL >5GG4NM5<GEO >6?445FL ?D>D5EE<>=4?L=O<< 
>><?5F5=F<O<< ?> 6E5< 6<44< 45OF5?L=>EF<, ?D54GE<>FD5==O<< ?D>7D4<<>=, E 
<E?>?L7>64=<5< E>6D5<5==OE F5E=>?>7<=, <4F5D<4?>6 < >5>DG4>64=<O. 
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3.2 'G55=>-<5F>4<G5E>>5 < <=D>D<4F<>==>5 >55E?5G5=<5 ?D>D5EE<>=4?L=>7> <>4G?O 
 

4) =>D<4F<6=O5 4>FO: 
7 ?/? �EF>G=<> 
1 ��%& 12248.1-2020 �DG=FO. �?D545?5=<5 E4D4>F5D<EF<> ?D>G=>EF< <5F>4>< 

>4=>??>E>>EF=>7> ED574:  GF65D64U= ?D<>47>< $545D4?L=>7> 475=FEF64 ?> 
F5E=<G5E>><G D57G?<D>64=<N < <5FD>?>7<< >F 14 >>FO5DO 2020 7. N 821-EF;  44F4 
66545=<O 2021-06-01. 3 URL: https://docs.cntd.ru/document/566409068 (44F4 
>5D4M5=<O: 10.03.2025). 3 &5>EF: M?5>FD>==O=. 

2 ��%& 12248.4-2020 �DG=FO. �?D545?5=<5 E4D4>F5D<EF<> 45D>D<<DG5<>EF< 
<5F>4>< >><?D5EE<>==>7> E64F<O: GF65D64U= ?D<>47>< $545D4?L=>7> 475=FEF64 
?> F5E=<G5E>><G D57G?<D>64=<N < <5FD>?>7<< >F 14 >>FO5DO 2020 7. N 824-EF; 
44F4 66545=<O 2021-06-01. 3 URL: https://docs.cntd.ru/document/566409071 (44F4 
>5D4M5=<O:10.03.2025). 3 &5>EF: M?5>FD>==O=. 

3 ��%& 12248.6-2020 �DG=FO. �5F>4 >?D545?5=<O =45GE4=<O < GE44><: GF65D64U= 
?D<>47>< $545D4?L=>7> 475=FEF64 ?> F5E=<G5E>><G D57G?<D>64=<N < 
<5FD>?>7<< >F 14 >>FO5DO 2020 7. N 826-EF;  44F4 66545=<O 2021-06-01. 3 URL: 
https://docs.cntd.ru/document/566409064 (44F4 >5D4M5=<O: 10.03.2025). 3 &5>EF: 
M?5>FD>==O=. 

4 ��%& 19912 - 2012 �DG=FO. �5F>4O ?>?56OE <E?OF4=<= EF4F<G5E><< < 
4<=4<<G5E><< 7>=4<D>64=<5<: GF65D64U=  ?D<>47>< $545D4?L=>7> 475=FEF64 ?> 
F5E=<G5E>><G D57G?<D>64=<N < <5FD>?>7<< >F 27 45>45DO 2012 7. N 2005-EF; 
44F4 66545=<O 2013-11-01. 3 URL:  https://docs.cntd.ru/document/1200101295 (44F4 
>5D4M5=<O: 10.03.2025). 3 &5>EF: M?5>FD>==O=. 

5 ��%& 20276.4-2020 �DG=FO. �5F>4 ED574 F5?<>>6 7DG=F4: GF65D64U=  ?D<>47>< 
$545D4?L=>7> 475=FEF64 ?> F5E=<G5E>><G D57G?<D>64=<N < <5FD>?>7<< >F 11 
467GEF4 2020 7. N 483-EF;  44F4 66545=<O 2021-01-01. 3 URL: 
https://docs.cntd.ru/document/1200174757 (44F4 >5D4M5=<O: 10.03.2025). 3 &5>EF: 
M?5>FD>==O=. 

6 ��%& 20276.6-2020 �DG=FO. �5F>4 <E?OF4=<O ?>?4EF=O< ?D5EE<><5FD><: 
GF65D64U=  ?D<>47>< $545D4?L=>7> 475=FEF64 ?> F5E=<G5E>><G D57G?<D>64=<N 
< <5FD>?>7<< >F 03 =>O5DO 2020 7. N 1027-EF;   44F4 66545=<O 2021-06-01. 3 URL: 
https://docs.cntd.ru/document/566409054 (44F4 >5D4M5=<O: 10.03.2025). 3 &5>EF: 
M?5>FD>==O=. 

7 ��%& 23061-2012 �DG=FO. �5F>4O D44<><7>F>?=OE <7<5D5=<=  ??>F=>EF< < 
6?46=>EF<: GF65D64U= ?D<>47>< $545D4?L=>7> 475=FEF64 ?> F5E=<G5E>><G 
D57G?<D>64=<N < <5FD>?>7<< >F 9 =>O5DO 2012 7. N 708-EF; 44F4 66545=<O 2013-
07-01. 3 URL: https://docs.cntd.ru/document/1200096091 (44F4 >5D4M5=<O: 
12.04.2024). 3 &5>EF: M?5>FD>==O=. 

8 ��%& 21.302-2013. 'E?>6=O5 7D4D<G5E><5 >5>7=4G5=<O 6 4>>G<5=F4F<< ?> 
<=65=5D=>-75>?>7<G5E><< <7OE>4=<O<: ?D<>47>< $545D4?L=>7> 475=FEF64 ?> 
F5E=<G5E>><G D57G?<D>64=<N < <5FD>?>7<< >F 30 45>45DO 2013 7. N 2385-EF; 
44F4 66545=<O 2015-01-01.  3 URL: https://docs.cntd.ru/document/1200108745 (44F4 
>5D4M5=<O: 10.03.2025). 3 &5>EF: M?5>FD>==O=. 
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9 ��%& 25100-2020. �DG=FO. �?4EE<D<>4F<O: GF65D64U= ?D<>47>< $545D4?L=>7> 
475=FEF64 ?> F5E=<G5E>><G D57G?<D>64=<N < <5FD>?>7<< >F 21 <N?O 2020 7. N 
384-EF; 44F4 66545=<O 2021-01-01. 3 URL: 
https://docs.cntd.ru/document/1200174302 (44F4 >5D4M5=<O: 10.03.2025). 3 &5>EF: 
M?5>FD>==O=. 

10  ��%& 12071-2014 �DG=FO. �F5>D, G?4>>6>4, FD4=E?>DF<D>64=<5 < ED4=5=<5 
>5D47F>6: GF65D64U= �D<>47>< $545D4?L=>7> 475=FEF64 ?> F5E=<G5E>><G 
D57G?<D>64=<N < <5FD>?>7<< >F 12 45>45DO 2014 7. N 2023-EF; 44F4 66545=<O 
2015-07-01. 3 URL: https://docs.cntd.ru/document/1200116021 (44F4 >5D4M5=<O: 
10.03.2025). 3 &5>EF: M?5>FD>==O=. 

11 ��%& 5686-2020 �DG=FO. �5F>4O ?>?56OE <E?OF4=<= E64O<<: GF65D64U= 
?D<>47>< $545D4?L=>7> 475=FEF64 ?> F5E=<G5E>><G D57G?<D>64=<N < 
<5FD>?>7<< >F 23 <N=O 20207.  N 281-EF; 44F4 66545=<O 2021-01-01.3 URL: 
https://docs.cntd.ru/document/1200173796 (44F4 >5D4M5=<O: 10.03.2025). 3 &5>EF: 
M?5>FD>==O=. 

12  ��%& 9.602-2016. �4<=4O E<EF5<4 74M<FO >F >>DD>7<< < EF4D5=<O. %>>DG65=<O 
?>475<=O5. �5M<5 FD55>64=<O > 74M<F5 >F >>DD>7<<: GF65D64U= ?D<>47>< 
$545D4?L=>7> 475=FEF64 ?> F5E=<G5E>><G D57G?<D>64=<N < <5FD>?>7<< >F 7 
>>FO5DO 2016 7. N 1327-EF; 44F4 66545=<O 2017-06-01.3 URL: 
https://docs.cntd.ru/document/1200140210 (44F4 >5D4M5=<O: 10.03.2025). 3 &5>EF: 
M?5>FD>==O=. 

13 ��%& 20522-2012 �DG=FO. �5F>4O EF4F<EF<G5E>>= >5D45>F>< D57G?LF4F>6 
<E?OF4=<=: GF65D64U= ?D<>47>< $545D4?L=>7> 475=FEF64 ?> F5E=<G5E>><G 
D57G?<D>64=<N < <5FD>?>7<< >F 29 >>FO5DO 2012 7. N 597-EF;  44F4 66545=<O 
2013-07-01.3 URL: https://docs.cntd.ru/document/1200096130 (44F4 >5D4M5=<O: 
10.03.2025). 3 &5>EF: M?5>FD>==O=. 

14 ��%& 12536-2014 �DG=FO. �5F>4O ?45>D4F>D=>7> >?D545?5=<O 
7D4=G?><5FD<G5E>>7> (75D=>6>7>) < <<>D> 47D574F=>7> E>EF464: GF65D64U=  
?D<>47>< $545D4?L=>7> 475=FEF64 ?> F5E=<G5E>><G D57G?<D>64=<N < 
<5FD>?>7<< >F 12 45>45DO 2014 7. N 2022-EF; 44F4 66545=<O 2015-07-01.3 URL: 
https://docs.cntd.ru/document/1200116022 (44F4 >5D4M5=<O: 10.03.2025). 3 &5>EF: 
M?5>FD>==O=. 

15  ��%& 5180-2015 �DG=FO. �5F>4O ?45>D4F>D=>7> >?D545?5=<O D<7<G5E><E 
E4D4>F5D<EF<>: GF65D64U=  ?D<>47>< $545D4?L=>7> 475=FEF64 ?> F5E=<G5E>><G 
D57G?<D>64=<N < <5FD>?>7<< >F 03 =>O5DO 2015 7. N 1694-EF; 44F4 66545=<O 
2016-04-01.3 URL: https://docs.cntd.ru/document/1200126371 (44F4 
>5D4M5=<O:10.03.2025). 3 &5>EF: M?5>FD>==O=. 

16  ��%& $ 58889-2020 �=65=5D=O5 <7OE>4=<O. &D55>64=<O > 6545=<N < 
>D>D<?5=<N ?>?56>= 4>>G<5=F4F<< ?D< ?D>E>4>5 < >?D>5>64=<< <=65=5D=>-
75>?>7<G5E><E 6OD45>F>>: GF65D64U= �D<>47>< $545D4?L=>7> 475=FEF64 ?> 
F5E=<G5E>><G D57G?<D>64=<N < <5FD>?>7<< >F 23 <N=O 2020 7. N 285-EF; 44F4 
66545=<O 2021-01-01. 3 URL: https://docs.cntd.ru/document/1200173800 (44F4 
>5D4M5=<O: 10.03.2025). 3 &5>EF: M?5>FD>==O=. 

17  ��%& $ 58325-2018 �DG=FO. �>?56>5 >?<E4=<5: GF65D64U= ?D<>47>< 
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$545D4?L=>7> 475=FEF64 ?> F5E=<G5E>><G D57G?<D>64=<N < <5FD>?>7<< >F 18 
45>45DO 2018 7. N 1124-EF; 44F4 66545=<O 2019-06-01. 3 URL: 
https://docs.cntd.ru/document/1200161813 (44F4 >5D4M5=<O: 10.03.2025). 3 &5>EF: 
M?5>FD>==O=. 

18 ��%& $ 22.1.06-99 �57>?4E=>EFL 6 GD576OG4==OE E<FG4F<OE. �>=<F>D<=7 < 
?D>7=>7<D>64=<5 >?4E=OE 75>?>7<G5E><E O6?5=<= < ?D>F5EE>6.  �5M<5 
FD55>64=<O: �D<=OF < 6654U= 6 45=EF6<5 ?>EF4=>6?5=<5< �>EEF4=44DF4 $>EE<< 
>F 24 <4O 1999 7. 7 177; 44F4 66545=<O 2000-01-01. 3 URL: 
https://docs.cntd.ru/document/1200004001 (44F4 >5D4M5=<O: 10.03.2025). 3 &5>EF: 
M?5>FD>==O=. 

19 %� 116.13330.2012 �=65=5D=4O 74M<F4 F5DD<F>D<=, 744=<= < E>>DG65=<= >F 
>?4E=OE 75>?>7<G5E><E ?D>F5EE>6. �E=>6=O5 ?>?>65=<O. �>FG4?<7<D>64==4O 
D544>F<O %�<� 22-02-2003: ?D<>47>< �<=<EF5DEF64 D57<>=4?L=>7> D476<F<O 
$>EE<=E>>= $545D4F<< (�<=D57<>= $>EE<<) >F 30 <N=O 2012 7. N 274; 44F4 
66545=<O 2013-01-01. 3 URL: https://docs.cntd.ru/document/1200095540 (44F4 
>5D4M5=<O: 10.03.2025). 3 &5>EF: M?5>FD>==O=. 

20 %� 22.13330.2016 %� �E=>64=<O 744=<= < E>>DG65=<=. �>FG4?<7<D>64==4O 
D544>F<O %�<� 2.02.01-83*: GF65D64U= ?D<>47>< �<=<EF5DEF64 EFD><F5?LEF64 < 
6<?<M=>->><<G=4?L=>7> E>7O=EF64 $>EE<=E>>= $545D4F<< >F 16 45>45DO 2016 
7. N 970/?D; 44F4 66545=<O 2017-07-01. 3 URL: 
https://docs.cntd.ru/document/456054206 (44F4 >5D4M5=<O: 10.03.2025). 3 &5>EF: 
M?5>FD>==O=. 

21  %� 24.13330.2011 %64==O5 DG=44<5=FO. �>FG4?<7<D>64==4O D544>F<O %�<� 
2.02.03-85: GF65D64U= ?D<>47>< �<=<EF5DEF64 D57<>=4?L=>7> D476<F<O 
$>EE<=E>>= $545D4F<< (�<=D57<>= $>EE<<) >F 27 45>45DO 2010 7. N 786; 44F4 
66545=<O 2011-05-20. 3 URL: https://docs.cntd.ru/document/1200084538 (44F4 
>5D4M5=<O: 10.03.2025). 3 &5>EF: M?5>FD>==O=. 
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